ORDER OF MATH OPERATIONS WITH NUMBERS -100 TO 100 (E-5) Name:

EXPRESSIONS WITH PARENTHESES I1
Time:

Score:

209)

(7T+(=7) =4) = 34+ (=27) + (=8)) =

210)

(OXx7T—(9x%x8)+9x9=

211)

((0+ 5= (—20)) = (—6)) x 37 + (—38) =

212)

(36 = (—=6) + (72 + (=8) + (—=17) — (—71))) =

213)

((5=(=38)) +(=3)) = (9 x (=8) = (=67)) =

214)

B3x2)—(—4)4+4x6+(—3) =

215)

((3=51) +(=12)) = (0= (=8)) = (=25)) =

216)

(0= (=9)) = (—=70)) = (=9) 7= (80 — 78) =

Mathematics: Order of Operations - Level 5 - Expressions - Set 5 28


https://www.workulum.com

